[ Efficiency vs vertpos |
~0.02

D 018 -----veemienreeenenns PR S
[ r : : :
D.016f-e-eveeesfeeeeeeeee e s
(8] r ' : .
9.014¢ Z : R
O o : :
%.012_ ; : e
0.01F ; : R
0.008F : :
0.006F
0.004F
0.002F

i J
ha

10 0?
TP vertr (cr%)

1072 107 1

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew6_step2_ttbar-phasel-newgeom

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005

¢ o
[T T [rrTT

-30 20
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0 T T T X
> I E E E

00.009F -+ AR A priyeees AR

BL008E b b
Y S O I S O S
PN E : : : :
T B R R S
Q F : : : .
.00+ virererpdeees :

[} E : : :

0.004f---- preees ERERRREE o

0.003F------bereeet-domded
0.002 :
0.001

Ratio

10
Sim. PV z (cm)



	Contents
	Page 1


